

19
 $t_n = 5, 9, 13, 17, \dots$ $d = 4$ $t_n = t_1 + (n-1)d$ (۱)
 $t_1 = 5$ $d = 4$ $t_n = 4n + 1$ ✓
 جمله دهم

20
 $t_n = 5, 10, 15, 20, \dots$ $d = 5$
 $t_n = 5 + (n-1) \times 5 = 5 + 5n - 5 = 5n$ جمله دهم $S_n = \frac{n}{2} (t_1 + t_n)$ (۱)
 $S_{10} = \frac{10}{2} [2(5) + (10-1) \times 5]$
 $S_{10} = 5 [10 + 45] = 5 \times 55 = 275$ ✓
 $t_n = 5(n) + 2 = 5n + 2$
 $t_9 = 5(9) + 2 = 47$ $t_{10} = 5(10) + 2 = 52$
 $t_{11} = 5(11) + 2 = 57$ $52 + 47 + 57 + 52 = 208$ ✓
 مجموع ۴ جمله هفتم

21
 $t_2 - t_1 = 2 - (1 + \sqrt{3}) = 2 - 1 - \sqrt{3} = 1 - \sqrt{3}$
 $t_3 - t_2 = (2 - \sqrt{3}) - 2 = 2 - \sqrt{3} - 2 = -\sqrt{3}$ $d = 1 - \sqrt{3}$ $t_{25} - t_{24} = 2$
 $t_{25} - t_{24} = 2 \times (1 - \sqrt{3})$ $t_n = (1 + \sqrt{3}) + (n-1)(1 - \sqrt{3})$
 $t_{24} = (1 + \sqrt{3}) + 23(1 - \sqrt{3}) = 1 + \sqrt{3} + 23 - 23\sqrt{3} = 24 - 22\sqrt{3}$
 $t_{25} = (1 + \sqrt{3}) + 24(1 - \sqrt{3}) = 1 + \sqrt{3} + 24 - 24\sqrt{3} = 25 - 23\sqrt{3}$
 $t_{25} - t_{24} = (25 - 23\sqrt{3}) - (24 - 22\sqrt{3}) = 1 - \sqrt{3}$ ✓

22
 $b_1 - b_2 = b_3 - b_4$ $2 - x = y - 2$ $x + y = 4$
 $a_1 = a^2x$ $a_2 = 3x$ $a_3 = 5y$ $a_4 = 3 \times 2 \times \omega^x = 3 \times (a^2x) = 3a^2x$
 $2x \times \omega$ $a_4 - a_1 = a_3 - a_2$ $3 \times a^2x - a^2x = 5y - 3 \times a^2x$
 $2a^{2+1}x = a^2y$ $1 + 2x = y$ $x + (2x + 1) = 4$ $3x = 3$ $x = 1$
 $y = 2(1) + 1 = 3$ $xy = 1 \times 3 = 3$ ✓

23
 $d = t_2 - t_1 = t_3 - t_2$ $d = (2x - 1) - (2x - 5) = 2x - 1 - 2x + 5 = 4$
 $d = 4x - (2x - 1) = 4x - 2x + 1 = 2x + 1$ $4 = 2x + 1$ $2x = 3$ $x = \frac{3}{2}$
 $t_1 = 2(\frac{3}{2}) - 5 = 3 - 5 = -2$
 $t_2 = 2(\frac{3}{2}) - 1 = 3 - 1 = 2$
 $t_3 = 2(\frac{3}{2}) = 3$
 $t_4 = t_3 + d = 3 + 4 = 7$ ✓
 $t_4 = 7$ ✓

$a_n = 4(n-1) + 2 = 4n - 2$ $b_1 = 2$ $d = 6 - 2 = 4$
 $b_n = 2 + (n-1) \times 4 = 4n - 2$ $a_i = b_j$ $4i - 2 = 4j - 2$ (۲)
 $i = \frac{4j - 2}{4}$ $4j - 2 = 4i$ $j = i$ $0 = 5 - 2 = 3$ $a = 4$ $p = d = 4$
 $j = 1 \Rightarrow i = 1$ $4 \times 1 - 2 = 2 = a_1 = 2$ $b_1 = 2$
 $j = 2 \Rightarrow i = 2$ $4 \times 2 - 2 = 6 = a_2 = 6$ $b_2 = 6$
 $j = 3 \Rightarrow i = 3$ $4 \times 3 - 2 = 10 = a_3 = 10$ $b_3 = 10$
 $j = 4 \Rightarrow i = 4$ $4 \times 4 - 2 = 14 = a_4 = 14$ $b_4 = 14$
 $j = 5 \Rightarrow i = 5$ $4 \times 5 - 2 = 18 = a_5 = 18$ $b_5 = 18$
 $j = 6 \Rightarrow i = 6$ $4 \times 6 - 2 = 22 = a_6 = 22$ $b_6 = 22$
 $j = 7 \Rightarrow i = 7$ $4 \times 7 - 2 = 26 = a_7 = 26$ $b_7 = 26$
 $j = 8 \Rightarrow i = 8$ $4 \times 8 - 2 = 30 = a_8 = 30$ $b_8 = 30$
 $j = 9 \Rightarrow i = 9$ $4 \times 9 - 2 = 34 = a_9 = 34$ $b_9 = 34$
 $j = 10 \Rightarrow i = 10$ $4 \times 10 - 2 = 38 = a_{10} = 38$ $b_{10} = 38$
 (۲)

۷ جوی سستون
 • طرد ✓

$a_n = a_1 + (n-1)d$ $a_1 + (a_1 + d) + (a_1 + 2d) + \dots + (a_1 + (n-1)d) = 21$ (۲) -۷
 $a_1 + (a_1 + d) + (a_1 + 2d) + \dots + (a_1 + (n-1)d) = 16$
 $a_1 + 2d = 5$ $a_1 + d = 1$ $(a_1 + 2d) - (a_1 + d) = 5 - 1 = 4 = d = 4$
 $a_1 + d = 1 \Rightarrow a_1 = 1 - 4 = -3$ $a_1 + a_2 = -3 + (-3 + 4) = -2$
 $c = 20 = 1$ (برابر) ✓
 $a_1 = -3$

$a_n = a_1 + (n-1)d$ $a_1 + a_2 + a_3 = 16$ $a_1 + (a_1 + d) + (a_1 + 2d) = 16$
 $a_1 + a_2 = 10$ $(a_1 + 2d) + (a_1 + d) = 10$ $2a_1 + 3d = 10$
 $a_1 = 10 - 3d$ $2(10 - 3d) + 3d = 10$ $20 - 6d + 3d = 10$ $10 = 3d$ $d = \frac{10}{3}$
 $a_{10} = a_1 + 9d = 10 - 30 + 30 = 10$ $a_{10} = 10$ (۲)

$s_n = \frac{n}{2} [2a_1 + (n-1)d]$ $s_2 = \frac{2}{2} [2a_1 + d] = 2(a_1 + \frac{d}{2})$ (۲)
 $\frac{9}{2} (2a_1 + d) = 9 [2a_1 + \frac{d}{2}]$ $\frac{1}{2} (2a_1 + d) = 2a_1 + \frac{d}{2}$
 $2a_1 + d = 2a_1 + \frac{d}{2}$ $d = \frac{d}{2}$ $d = 0$
 $d = 2a_1$ $a_n = a_1 + (n-1)d = a_1 + (n-1)2a_1 = a_1(1 + 2n - 2) = a_1(2n - 1)$
 $a_7 = a_1(2 \times 7 - 1) = 13a_1$ $a_7 = 13a_1$ (۳) ✓
 $\frac{13}{1} = 13$

$a_1 = 1$ $a_7 = 13$ $13 = 1 + 6d \Rightarrow 6d = 12 \Rightarrow d = 2$ (۲) -۱
 $a_5 = 1 + 4d = 1 + 8 = 9$ $a_5 = 9$
 $d_n = 2n + (n-1)(-2) = 2n - 2n + 2 = 2$ $n - 2 = 5 - 2 = 3$ $d = -2$
 (۳) ✓

$a_{14}, a_{30}, a_{31}, a_{32} \leftarrow \text{عقده} \text{ } \underline{2-2} \text{ (ب 2)}$

$$a_{14} + a_{32} = a_{30} + a_{31} \xrightarrow{\text{مجموعه} \text{ } \underline{2-2}} \gamma(a_{30} + a_{31}) = \gamma(\gamma \wedge \wedge) = \underline{\underline{494}}$$

$$a_{30} + a_{31} = a_1 + a_4 = \gamma a_1 + \gamma^4 a_1 = \gamma \wedge \wedge \uparrow$$